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s - rfn' vr{ 27814000 1668719.58 18883403.9 8930596.1

1 - pkef]u vr{ 13190000 708156.34 9556416.69 3633583.3

1.01 - tna 11654328.9 623489.67 8385065.69 3269263.2

1.01.1 - tna sd{rf<L 9500000 623289.67 7805565.69 1694434.3

1.01.3 - sd{rf<L sNof)f sf]if 2000000 0 577500 1422500

1.01.4 - ljdf lk|ldod vr{ 154328.9 200 2000 152328.9

1.02 - eQf 890000 59166.67 658440 231560

1.02.1 - sd{rf<L eQf 450000 31166.67 373440 76560

1.02.2 - kbflwsf<L eQf 40000 3000 30000 10000

1.02.3 - a}&s eQf 400000 25000 255000 145000

6.05.3 - :yflgo lasf; z'Ns k'_hLut 3658173 jf^ ;_rfng ul<g] 
of]hgfx? 15246335 262024 5971363.45 9274971.66.05.3.1 - aiff{ ofdsf] ;dodf g=kf=If]q leq<x]sf kSsL/sRrL gfnfx? 
;kmfug]{ sfo{ 1000000 0 610100 389900

6.05.3.10 - gu< :tl<o kqsf< lxtsf]if 200000 0 50670 1493306.05.3.11 - ;'rgf s]Gb| Joj:yfkg tyf sd{rf<Lx?nfO{ ;'rgf k|ljlw 
;DjGwL tflnd sfo{ 146335 0 146335 0

6.05.3.12 - sfof{no ejg lgdf{)f 10000000 121480 2842480 71575206.05.3.2 - aiff{sf] ;dodf g=kf=If]qleq <x]sf sRrL/u|fe]n;*sx?df 
df^f]u|fe]nxfNg 800000 0 506100 293900

6.05.3.3 - ;_rflnt of]hgfx?sf] cg'udg tyf d'Nof_sg 100000 0 0 1000006.05.3.4 - g=kf=j'n]l^ga|'l;o<gful<s j*fkq tyf ;_=lj=sfo{qmd-cf]=l*=< 
sfof{ljw 400000 0 349160 50840

6.05.3.5 - cfGtl<s >f]t ;jlns<)fsf] nfuL ;xsfo{ 500000 140544 349842 150158

6.05.3.6 - of]hgf Joj:yfkg vr{ 1000000 0 639845 360155

6.05.3.7 - g=kf=sd{rf<Lx?sf] nfuL If]dtf ljsf; sfo{qmd 100000 0 0 100000

6.05.3.8 - vfg]kfgL tyf ;<;kmfO{v'Nnf lbzfd'Qm If]q sfo{qmd 500000 0 136948.75 363051.25

6.05.3.9 - Go"gtd zt{ tyf sfo{ ;Dkfbg Joj:yfkg sfo{qmd 500000 0 339882.7 160117.3

6.05.4 - cfGtl<s >f]t jf^ ;_rfng x'g] j*f tyf gu< :tl<o of]hgfx? 6548928 822366.85 1726660.55 4822267.5

6.05.4.1 - ef}lts lgdf{)f 4576500 712366.85 857982.85 3718517.2

6.05.4.1.11 - cw'<f] ;fd'bflos ejg lgdf{)Ff 200000 200000 200000 0

6.05.4.1.15 - nIdL d_lb< lgdf{)f 71500 0 71500 0

6.05.4.1.18 - <fhfhL yfgsf] nfuL sDkfp)_* jfn lgdf{)f 150000 100000 100000 500006.05.4.1.19 - l;tf<fd bf;n] lbPsf] hUufdf dGbL< lgdf{)f sfo{ k|f<De 
8 151000 50000 50000 101000

6.05.4.1.23 - gjo'u Ps]*]dL tkm{sf] ;*s cf<=l;=l;=ug]{ 615000 245479 245479 369521

6.05.4.1.25 - a:g]t ^f]ndf cf<=l;=l;=sNe{^ lgdf{)f 150000 50000 50000 100000

6.05.4.1.26 - lkknuf%L du< ^f]ndf kfs{ lgdf{)f 296000 66887.85 126003.85 169996.15

6.05.4.14 - ;fIf< gu< cleofg 255000 100000 100000 1550006.05.4.1.8 - Og?jf 3 sf Snj < o'jfx?n] ug]{ jflif{s j*f;<;kmfO{ 
sfo{qmd 29000 0 15000 14000

6.05.4.4 - 14 j^f ;fd'bflos k|f=lj=/lg=df=jL=/df=jL= nfO{ cg'bfg 100000 10000 51054 48946

6.05.4.6 - rf* kj{ ;_<If)f sfo{qmd 200000 0 200000 06.05.4.7 - g=kf=If]qdf <x]sf 100 hgf o'jf/o'jtLx?sf] :j<f]huf<sf] 
nfuL tflnd 200000 0 200000 06.05.4.8 - hg:jf:Yok|j${gsf] nfuL sfnfHj<dR%<sf]cf}ifwL %sg]{%f*f 
s's'< lgoGq)f 100000 0 87930 12070

6.05.4.9 - gu<:tl<o v]ns'b ljsf; sfo{qmd 300000 0 229693.7 70306.3

6.05.7 - ut ljutdf ;_rflnt of]hgfx?sf] e'QmfgL lbg jfsL 10100000 0 4657784.38 5442215.6

6.05.9 - lh=P;=Pkm=sfo{qmd 1575000 116914 1233268 341732

6.06 - k"FhLut ;'wf< vr{ 523507.85 0 4980 518527.85

6.07 - cWoog tyf k"FhLut k|fljlws k<fdz{ ;]jf vr{ 1200000 20000 1158012 41988

133692000 7468583.86 61197100.8 72494899
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